ERRONEOUS OUTPUT FOR QUESTION 2 – DUE TO OMITTING toString METHOD FROM LENGTH
  «Ï ----jGRASP exec: java Driver_Q1
ÏÏ§Ï
ÏÏ§ÏAge 12: 
ÏÏ§Ï Mike: Length@18d107f
ÏÏ§Ï Bill: Length@360be0
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§ÏAge 16: 
ÏÏ§Ï Mike: Length@18d107f
ÏÏ§Ï Bill: Length@360be0
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§ÏAge 20: 
ÏÏ§Ï Mike: Length@18d107f
ÏÏ§Ï Bill: Length@360be0
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§ÏAge 70: 
ÏÏ§Ï Mike: Length@18d107f
ÏÏ§Ï Bill: Length@360be0
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.

CORRECT OUTPUT FOR QUESTION 2 – text following colons is up to user.ÏÏÏÏ
ÏÏ«Ï ----jGRASP exec: java Driver_Q1
ÏÏ§Ï
ÏÏ§ÏAge 12: 
ÏÏ§Ï Mike: Question 2 
ÏÏ§Ï Bill: Question 2 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§ÏAge 16: 
ÏÏ§Ï Mike: Question 2 
ÏÏ§Ï Bill: Question 2 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§ÏAge 20: 
ÏÏ§Ï Mike: Question 2 
ÏÏ§Ï Bill: Question 2 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§ÏAge 70: 
ÏÏ§Ï Mike: Question 2 
ÏÏ§Ï Bill: Question 2 
ÏÏ§Ï == SAME ==
ÏÏ§Ï

ÏÏ©Ï ----jGRASP: operation complete.

